
多項式の計算（乗法公式❷❸） №５

乗法公式 （χ＋ａ）２＝ χ２＋２ａχ＋ａ２

◉ χ ａ χ ａ ａ

χ
⇒ χ χ ａ

ａ

ａ χ×χ ａχ×２ ａ×ａ

１．次の式を展開しなさい。

例 （χ＋３）２ ＝ χ２ ＋２×３χ ＋３２

＝ χ２ ＋ ６χ ＋９

①（χ＋２）２ ②（χ＋５）２ ③（χ＋４）２

乗法公式 （χ－ａ）２＝ χ２－２ａχ＋ａ２

例 （χ－４）２ ＝ χ２ ＋２×（－４）χ ＋（－４）２

＝ χ２ － ８χ ＋ １６

④（χ－５）２ ⑤（χ－６）２ ⑥（χ－３）２

〈答え〉
①（χ＋２）２

②（χ＋５）
２

③（χ＋４）
２

＝χ
２
＋２×２χ＋２

２
＝χ

２
＋２×５χ＋５

２
＝χ

２
＋２×４χ＋４

２

＝χ
２
＋４χ＋４ ＝χ

２
＋１０χ＋２５ ＝χ

２
＋８χ＋１６

④（χ－５）
２

⑤（χ－６）
２

＝χ
２
＋２×（－５）χ＋（－５）

２
＝χ

２
＋２×（－６）χ＋（－６）

２

＝χ
２
－１０χ＋２５ ＝χ

２
－１２χ＋３６

⑥（χ－３）
２

＝χ
２
＋２×（－３）χ＋（－３）

２

＝χ
２
－６χ＋９


